
ECONOMICS

BOOKS - FULL MARKS ECONOMICS

(HINGLISH)

CONSUMER EQUILIBRIUM

Ncert Textbook Questions Solved

1. What do you mean by the budget set of a

consumer ?

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_8wso9Y0OyNc2


View Text Solution

2. Define Budget set.

View Text Solution

3. What is Budget Line ?

View Text Solution

https://dl.doubtnut.com/l/_8wso9Y0OyNc2
https://dl.doubtnut.com/l/_wjTdx6hzKWy9
https://dl.doubtnut.com/l/_myKAHhPCoEM5


4. Explain why budget line is downward

sloping ?

View Text Solution

5. Why is budget line negatively sloped?

View Text Solution

6. A consumer wants to consume two goods .

The prices of the two goods are Rs 4 and Rs 5

https://dl.doubtnut.com/l/_wP8yRxdANUJZ
https://dl.doubtnut.com/l/_0zwNVuC3nP57
https://dl.doubtnut.com/l/_EwnQqo1hFKWU


respectively. The consumer's income is Rs 20. 

(i) Write down the equation of the budget line.

(ii) How much quantity of good 1 can the

consumer consume if she spends her entire

income on that good ? 

(iii) How much of good 2 can she consume if

the spends her entire income on that good ? 

(iv) What is the slope of the budget line ?

View Text Solution

https://dl.doubtnut.com/l/_EwnQqo1hFKWU


7. How does the budget line change if the

consumer's income increase to Rs 40 but the

prices remain unchanged ?

View Text Solution

8. How does the budget line change if the

price of good 2 decrease by a rupee but the

price of good 1 and the consumer's income

remain unchanged ?

View Text Solution

https://dl.doubtnut.com/l/_yMnu95icZmoR
https://dl.doubtnut.com/l/_Fd23ENTZbHgD


9. What happens to the budget set if both the

prices as well as the income double ?

View Text Solution

10. Suppose a consumer can afford to buy 6

units of good 1 and 8 units of good 2 if she

spends her entire income. The prices of the

goods are Rs 6 and Rs. 8 respectively . How

much is the consumer's income ?

View Text Solution

https://dl.doubtnut.com/l/_Fd23ENTZbHgD
https://dl.doubtnut.com/l/_mlnRhALSFtrQ
https://dl.doubtnut.com/l/_MabXzJrvRzdR


11. Suppose a consumer wants to consume two

goods which are available only in integer

units. The two goods are equally priced at

Rs10 and the consumer's income is Rs 40. 

(i) Write down all the bundles that are

available to the consumer. 

(ii) Among the bundles that are available to

the consumer's . Identify those which cost her

exactly 40.

View Text Solution

https://dl.doubtnut.com/l/_MabXzJrvRzdR
https://dl.doubtnut.com/l/_SpyYoEwtAJiv


12. What are monotonic preferences ?

View Text Solution

13. If a consumer has monotonic preferences ,

can she he indifferent between the bundles

(10,8) and (8,6) ?

View Text Solution

https://dl.doubtnut.com/l/_tjzyCWOb93je
https://dl.doubtnut.com/l/_xHQ8rLQu5fGO


14. Suppose a consumer's preferences are

monotonic . What can you say about her

preference ranking over the bundles (10,10) ,

(10,9),(9,9) .

View Text Solution

15. Suppose your friend is indifferent to the

bundles (5,6) and (6,6) . Are the preferences of

your friend monotonic ?

View Text Solution

https://dl.doubtnut.com/l/_PUqdjg7o52yA
https://dl.doubtnut.com/l/_KzjT9nwI9RJ9


More Questions Solved I Very Short Answer Type

Questions

1. Define utility .

View Text Solution

2. Define total utility .

View Text Solution

https://dl.doubtnut.com/l/_KzjT9nwI9RJ9
https://dl.doubtnut.com/l/_nOlUZcg4hCB1
https://dl.doubtnut.com/l/_4kZ4djY6hq0Y


3. How is total utility deriveds from marginal

utility ?

View Text Solution

4. Define marginal utility .

View Text Solution

5. What is consumer's equilibrium ?

View Text Solution

https://dl.doubtnut.com/l/_3dQsxct8abYV
https://dl.doubtnut.com/l/_gUdmjUQ7RPpw
https://dl.doubtnut.com/l/_2tZfaCO7E8xl


6. What is meant by MU of one rupee ?

View Text Solution

7. Define indifference curve.

View Text Solution

8. Define indifference map ?

View Text Solution

https://dl.doubtnut.com/l/_2tZfaCO7E8xl
https://dl.doubtnut.com/l/_s2D3NjHo8ORz
https://dl.doubtnut.com/l/_ILi1EK0CkWZD
https://dl.doubtnut.com/l/_x2Ze4vrjLa1R


9. Define marginal rate of substitution .

View Text Solution

10. Why are indifference curves always convex

to the origin ?

View Text Solution

https://dl.doubtnut.com/l/_x2Ze4vrjLa1R
https://dl.doubtnut.com/l/_DM6c0xnao0ri
https://dl.doubtnut.com/l/_XYgGxYlKKCWG


11. Why does an indifference curve slope

downwards ?

View Text Solution

12. Give equation of Budget Line .

View Text Solution

13. Give equation of Budget Set.

View Text Solution

https://dl.doubtnut.com/l/_XdiemSVcEO52
https://dl.doubtnut.com/l/_2DQ2PYnRsBkG
https://dl.doubtnut.com/l/_7dNfrxPdH9tQ


More Questions Solved Ii Multiple Choice

Questions

14. Define Budget set.

View Text Solution

15. Define Budget Line.

View Text Solution

https://dl.doubtnut.com/l/_7dNfrxPdH9tQ
https://dl.doubtnut.com/l/_0d1bW0s9FD36
https://dl.doubtnut.com/l/_86yEkZyi6Izn
https://dl.doubtnut.com/l/_C7b463dVrJ6T


1. Total utility is maximum when

A. Marginal utility is zero.

B. Marginal utility is at its highest point.

C. Marginal utility is equal to average

utility.

D. Average utility is maximum.

Answer: a

View Text Solution

https://dl.doubtnut.com/l/_C7b463dVrJ6T


2. Which of the shaded area in the diagrams

below represent total utility ?

A. 

B. 

C. 

D. 

Answer: c

View Text Solution

https://dl.doubtnut.com/l/_JDYMC2enqXtO


View Text Solution

3. What does the area under the marginal

utility curve depict ?

A. Average Utility

B. Total Utility

C. Indifference Curve

D. Consumer Equilibrium

Answer: b

View Text Solution

https://dl.doubtnut.com/l/_JDYMC2enqXtO
https://dl.doubtnut.com/l/_jwiU3H90CNuf


4. Which one of the following is not an

assumption of the theory of demand based

analysis of indifference curve ?

A. Given scale of preferences as between

different combinations of two goods.

B. Diminishing marginal rate of

substitution.

C. Constant marginal utility of money.

https://dl.doubtnut.com/l/_jwiU3H90CNuf
https://dl.doubtnut.com/l/_KCpWKvGJBfOi


D. Consumers would always prefer more of

a particular piece of goods to less of it,

other things remaining the same.

Answer: c

View Text Solution

5. The consumer is in equilibrium at a point

where the budget line -

A. Is above an indifference curve.

https://dl.doubtnut.com/l/_KCpWKvGJBfOi
https://dl.doubtnut.com/l/_Z0LHPpA5VbQY


B. Is below indifference curve.

C. Is tangent to an indifference curve.

D. Cuts an indifference curve.

Answer: c

View Text Solution

6. An indifference curve slopes down towards

rights since more of one commodity and less

of another result in -

https://dl.doubtnut.com/l/_Z0LHPpA5VbQY
https://dl.doubtnut.com/l/_ACR0OtqZT6n3


A. Same satisfaction.

B. Greater satisfaction.

C. Maximum satisfaction.

D. Decreasing expenditure.

Answer: a

View Text Solution

7. The second glass of lemonade gives lesser

satisfaction to a thirsty boy . This is a clear

case of

https://dl.doubtnut.com/l/_ACR0OtqZT6n3
https://dl.doubtnut.com/l/_rU7VG8B1u68K


A. Law of demand.

B. Law of diminishing returns

C. Law of diminishing utility .

D. Law of supply.

Answer: c

View Text Solution

8. The consumer is in equilibrium when the

following condition is satisfied :

https://dl.doubtnut.com/l/_rU7VG8B1u68K
https://dl.doubtnut.com/l/_7ERF0SQNNvvu


A. 

B. 

C. 

D. None of these.

Answer: c

View Text Solution

>
MUx

MUy

Px

Py

<
MUx

MUy

Px

Py

=
MUx

MUy

Px

Py

9. Which of the following options is a property

of an indifference curve ?

https://dl.doubtnut.com/l/_7ERF0SQNNvvu
https://dl.doubtnut.com/l/_3M52Xyfg3MGp


A. It is convex to the origin.

B. The marginal rate of substitution is

constant as you move along and

indifference curve.

C. Marginal utility is constant as you move

along an indifference curve .

D. Total utility is the greatest where the 45

degrees line cuts the indifference curve.

Answer: a

View Text Solution

https://dl.doubtnut.com/l/_3M52Xyfg3MGp


10. When economists speak of the utility of a

certain good, they are referring to -

A. The demand for the good.

B. The usefulness of the good in

consumption.

C. The satisfaction gained from consuming

the good.

D. The rate at which consumers are willing

exchange one unit of good for an other

https://dl.doubtnut.com/l/_3M52Xyfg3MGp
https://dl.doubtnut.com/l/_oSM3ouuNjN2T


one.

Answer: c

View Text Solution

11. Budget set is -

A. Right angled triangle formed by the

budget line with the axes.

B. All points on the budget line .

C. Points inside the budget line.

https://dl.doubtnut.com/l/_oSM3ouuNjN2T
https://dl.doubtnut.com/l/_mXmkWQSFwjMH


D. Points on Y - axis from where budget line

starts and the point on X - axis where

budget line ends .

Answer: a

View Text Solution

12. If indifference curve is straight line

downward sloping ,

A. MRS is increasing

https://dl.doubtnut.com/l/_mXmkWQSFwjMH
https://dl.doubtnut.com/l/_DjB4Myx1gu5P


B. MRS is decreasing

C. MRS is constant

D. MRS is zero

Answer: c

View Text Solution

13. If X and Y are two commodities,

indifference curve shows -

A. X and Y are equally preferred

https://dl.doubtnut.com/l/_DjB4Myx1gu5P
https://dl.doubtnut.com/l/_0Wx2Zl564Euu


B. Y is preferred to X

C. X is preferred to Y

D. None of these.

Answer: a

View Text Solution

14. If Marginal Rate of Substitution is constant

throughout, the Indifference curve will be :

A. Parallel to the x - axis .

https://dl.doubtnut.com/l/_0Wx2Zl564Euu
https://dl.doubtnut.com/l/_iDK62iKeh4RW


B. Downward sloping concave.

C. Downward sloping convex .

D. Downward sloping straight line.

Answer: d

View Text Solution

15. If Marginal Rate of Substitution is

increasing throughout , the Indifference curve

will be :

https://dl.doubtnut.com/l/_iDK62iKeh4RW
https://dl.doubtnut.com/l/_WWGp7SlClNn0


A. Downward sloping convex

B. Downward sloping concave.

C. Downward sloping straight line.

D. Upward sloping convex.

Answer: b

View Text Solution

16. Which of the can be referred to as 'point of

satiety ?

https://dl.doubtnut.com/l/_WWGp7SlClNn0
https://dl.doubtnut.com/l/_YU7pfCAEOFp4


More Questions Solved Iii Short Answer Type

Questions

A. Marginal utility is negative

B. Marginal utility is zero

C. Total Utility is rising

D. Total Utility is falling

Answer: b

View Text Solution

https://dl.doubtnut.com/l/_YU7pfCAEOFp4


1. Explain with diagram , the relationship

between TU and MU.

View Text Solution

2. How many chocolates will a consumer have, ,

if they are available free of cost?

View Text Solution

https://dl.doubtnut.com/l/_IAj7tjtYD4Qm
https://dl.doubtnut.com/l/_klkHGGGq7bK2


3. Total Utility remains the same , whether

Marginal Utility is positive or negative ".

Defend or refute.

View Text Solution

4. State with reason if the following

statements are true or false: 

(i) At a grand family get-together party you go

on eating and eating since you have not a pay. 

(ii) As we consume more units of a commodity

https://dl.doubtnut.com/l/_6B3BkJT50MLM
https://dl.doubtnut.com/l/_MMw2VWwbQn4X


, our total Utility from its consumption keeps

falling.

View Text Solution

5. Explain the law of diminishing marginal

utility with the help of a total utility schedule .

View Text Solution

https://dl.doubtnut.com/l/_MMw2VWwbQn4X
https://dl.doubtnut.com/l/_NCaxYOTvtlms


6. Derive MU Schedule from TU Schedule. 

View Text Solution

7. A person's marginal utility schedule is given

below. Derive their total utility schedule. 

https://dl.doubtnut.com/l/_Qm5yKbA4fTjc
https://dl.doubtnut.com/l/_NtpiVkKAuuHT


 

View Text Solution

8. Calculate : 

https://dl.doubtnut.com/l/_NtpiVkKAuuHT
https://dl.doubtnut.com/l/_MlO6E6kZmwll


View Text Solution

9. Derive the inverse relation between price of

the good and its demand from single

commodity equilibrium condition " marginal

utility = price".

View Text Solution

10. A consumer consumes only two goods X

and Y. At a consumption level of these two

goods , he finds that the ratio of marginal

https://dl.doubtnut.com/l/_MlO6E6kZmwll
https://dl.doubtnut.com/l/_igZgBfM2GK53
https://dl.doubtnut.com/l/_vdfhQnCi7k9V


utility to price in case of X is higher than that

in case. of X is higher than that in case of Y .

Explain the reaction of consumer.

View Text Solution

11. A consumer consumes only two goods X

and Y and is in equilibrium . Price of falls .

Explain the reaction of the consumer through

the Utility Analysis

View Text Solution

https://dl.doubtnut.com/l/_vdfhQnCi7k9V
https://dl.doubtnut.com/l/_WOwYaztymZfx
https://dl.doubtnut.com/l/_RgtymCP5BEnF


12. A Consumer consumes only two goods X

and Y and is in equilibrium . Price of good X

falls . Show that it will lead to rise in demand

for good X.

View Text Solution

13. By spending his entire income only on two

goods X and Y a consumer finds that ,

 Explain how will the

consumer react.

View Text Solution

>
MUx

Px

MUy

Py

https://dl.doubtnut.com/l/_RgtymCP5BEnF
https://dl.doubtnut.com/l/_CU9LHmErgLzy


14. A consumer consumes two goods X and Y.

What will happen if  is greater than 

 ?

View Text Solution

MUx

Px

MUy

Py

15. A consumer consumes two goods X and Y.

Explain what will happen if  is

greater than  ?

View Text Solution

MUx /Px

MUy /Py

https://dl.doubtnut.com/l/_CU9LHmErgLzy
https://dl.doubtnut.com/l/_0MVGnYaGpF38
https://dl.doubtnut.com/l/_OQhUYFub18zN


16. A consumer consumes only two goods X

and Y. At certain consumption level of these

goods, the finds that the ratio of marginal

utility to price in case of X is lower than that in

case of Y. Explain the reaction of the consumer.

View Text Solution

17. By spending his entire income only on two

goods X and Y a consumer finds that ,

https://dl.doubtnut.com/l/_OQhUYFub18zN
https://dl.doubtnut.com/l/_iEXd0y32oZsy
https://dl.doubtnut.com/l/_meevVnnLOFfj


 . Explain how will the

consumer reaction.

View Text Solution

<
MUx

Px

MUy

Py

18. A consumer consumer only two goods X

and Y and is in equilibrium . Show that when

the price of good X rises, the consumer buys

less of good X. Use utility analysis.

View Text Solution

https://dl.doubtnut.com/l/_meevVnnLOFfj
https://dl.doubtnut.com/l/_YpjtMGxCC84H


19. Explain the meaning of diminishing

marginal rate of substitution with the help of

a numerical example.

View Text Solution

20. Why is an Indifference curve generally

convex to the origin.

View Text Solution

https://dl.doubtnut.com/l/_wzs551oBz9Qg
https://dl.doubtnut.com/l/_crfeISxswHuu


21. Explain why an Indifference curve has a

negative slope (i.e. IC slope down - wards to

the right).

View Text Solution

22. Why do Indifference curves not intersect

each other ?

View Text Solution

https://dl.doubtnut.com/l/_4WHfRNMwPstg
https://dl.doubtnut.com/l/_hK8QMqR1o1Yc


23. Explain that Higher IC provides higher level

of satisfaction.

View Text Solution

24. Higher indifference curve represents

higher level of satisfaction to the consumer'.

Explain the statement, also state the

underlying assumption related to this

property of indifference curve.

View Text Solution

https://dl.doubtnut.com/l/_GFVilVWZwATX
https://dl.doubtnut.com/l/_lubvVmNHMYy7


More Questions Solved Iv True Or False Giving

Reasons State Whether The Following

Statements Are True Or False

1. Total Utility increases as long as marginal

utility is positive (+).

View Text Solution

2. TU starts declining when MU starts

declining.

https://dl.doubtnut.com/l/_lubvVmNHMYy7
https://dl.doubtnut.com/l/_4UzZ1OYztskb
https://dl.doubtnut.com/l/_HHNwDUBOLus6


View Text Solution

3. An indifference curve (IC) is convex to the

origin because of increasing  .

View Text Solution

MRSxy

4. A consumer is in equilibrium if he earns the

maximum profit.

View Text Solution

https://dl.doubtnut.com/l/_HHNwDUBOLus6
https://dl.doubtnut.com/l/_595fH3AEEnO4
https://dl.doubtnut.com/l/_IIVmNib4FUdM
https://dl.doubtnut.com/l/_VRruFZFirsZg


5. Marginal utility of the first unit is equal to

Total Utility .

View Text Solution

6. In case of single commodity , consumer will

be in equilibrium when M.U. = Income.

View Text Solution

7. If there are two commodities , consumer is

in equilibrium if =
MUx

Income

MUy

Income

https://dl.doubtnut.com/l/_VRruFZFirsZg
https://dl.doubtnut.com/l/_Yst25ZvVpVQO
https://dl.doubtnut.com/l/_5h6DCRmOgogC


View Text Solution

8. If TU remains the same, MU may be negative

or positive .

View Text Solution

9. In case of indifference curve consumer is in

equilibrium if  .

View Text Solution

MRSxy =
Px

Py

https://dl.doubtnut.com/l/_5h6DCRmOgogC
https://dl.doubtnut.com/l/_YMX9PM6vXBrN
https://dl.doubtnut.com/l/_ZNcZUBBiQHUl
https://dl.doubtnut.com/l/_rMcyjxdPREmf


10. A consumer is in equilibrium where

indifference curve equals budget line ?

View Text Solution

11. All points on the dudget line give equal

satisfaction to the consumer.

View Text Solution

https://dl.doubtnut.com/l/_rMcyjxdPREmf
https://dl.doubtnut.com/l/_oLvmgnQrKhRy


More Questions Solved V Long Answer Type

Questions

12. All combinations on an IC are achievable by

a consumer.

View Text Solution

1. Explain consumer's equilibrium in case of a

single commodity with the help of a utility

schedule.

View Text Solution

https://dl.doubtnut.com/l/_xCS5JAUojUeE
https://dl.doubtnut.com/l/_yb8W9fawGzi0


2. State condition of consumer equilibrium in

case of a single commodity .

View Text Solution

3. There is given the market price of a piece of

goods , how does a consumer decides as to

how many units of that piece of goods to buy .

View Text Solution

https://dl.doubtnut.com/l/_yb8W9fawGzi0
https://dl.doubtnut.com/l/_iXkFLUNUnPOV
https://dl.doubtnut.com/l/_kSmssS3el2ZK


4. How many units of a commodity should a

consumer buy to get its maximum utility ?

Example with my help of a numerical example.

View Text Solution

5. There is given the price of a good , how does

a consumer decide as to how much quality of

the goods to buy?

View Text Solution

https://dl.doubtnut.com/l/_9iFHrdk4clzc
https://dl.doubtnut.com/l/_856xAtiCxxsh
https://dl.doubtnut.com/l/_doSObFsM0iJB


6. A consumer consumes only two goods.

Explain the Conditions of the consumer's

equilibrium with the help of Utility Analysis.

View Text Solution

7. State and explain the condition of consumer

equilibrium in case of two commodities

through Utility approach.

View Text Solution

https://dl.doubtnut.com/l/_doSObFsM0iJB
https://dl.doubtnut.com/l/_2RVn0GAjWwgh
https://dl.doubtnut.com/l/_QRlXe7CRJTO5


8. For a consumer to be in equilibrium why

must marginal rate of substitution be equal to

the ratio of prices of the two goods?

View Text Solution

9. Using indifference curve approach , explain

the conditions of consumer's equilibrium .

View Text Solution

https://dl.doubtnut.com/l/_QRlXe7CRJTO5
https://dl.doubtnut.com/l/_PEjleVmozdPP


10. Why is the consumer in equilibrium when

he buys only that combination of the two

goods that is shown at the point of tangency

of the budget line with an indifference curve ?

Explain .

View Text Solution

11. What are the conditions of consumer's

equilibrium under the indifference curve

approach ? What changes will take place if the

https://dl.doubtnut.com/l/_GbeK8l6sFnC3
https://dl.doubtnut.com/l/_N6J3dHcHV98M


conditions are not fulfilled to reach

equilibrium ?

View Text Solution

12. State and explain the conditions of

consumer's equilibrium in indifference curve

analysis.

View Text Solution

https://dl.doubtnut.com/l/_N6J3dHcHV98M
https://dl.doubtnut.com/l/_vStvgwDtLkWz


13. Explain consumer equilibrium using the

concept of budget line and indifference map

or Interior Optimum Consumer Equilibrium.

View Text Solution

14. A consumer consumes only two of goods .

For the consumes to be in only equilibrium

why must Marginal Rate of Substitution

between the two goods must be equal to the

https://dl.doubtnut.com/l/_5PBIiQHqYWYh
https://dl.doubtnut.com/l/_VqeAKZkaYaLw


ratio of prices of these two goods ? It it

enough to ensure equilibrium ?

View Text Solution

15. A consumer consumes only two goods.

Explain the conditions that need to be

satisfied for consumer to be in equilibrium

under indifference curve analysis .

View Text Solution

https://dl.doubtnut.com/l/_VqeAKZkaYaLw
https://dl.doubtnut.com/l/_fK1kPZ8Dtbjx


16. Show diagrammatically the conditions for

consumer's equilibrium in Hicksian analysis of

demand .

View Text Solution

17. Differentiate between Cardinal and Ordinal

Utility .

View Text Solution

https://dl.doubtnut.com/l/_c8ppl5kMJ7wJ
https://dl.doubtnut.com/l/_w7EzsutcCsOX


More Questions Solved Vi Higher Order Thinking

Skills Hots

1. What does budget line in terms of price and

income indicate ?

View Text Solution

2. What is the slope of budget line ?

View Text Solution

https://dl.doubtnut.com/l/_1QXP8Q1wvcxO
https://dl.doubtnut.com/l/_9XGpPNjxdUkl


3. What is the horizontal (X axis) intercept of

budget line ?

View Text Solution

4. What is the Vertical (Y- axis) intercept of

budget line ?

View Text Solution

https://dl.doubtnut.com/l/_9fXZ13A8TeBa
https://dl.doubtnut.com/l/_JU171jix3GkD


5. Law of diminishing marginal utility will

operate even if consumption takes place in

intervals, Defend or refute .

View Text Solution

6. Derive the law of demand from the two

commodity equilibrium condition " Marginal

Utility = price ratio through utility approach''.

View Text Solution

https://dl.doubtnut.com/l/_v5vi4WcYxI3s
https://dl.doubtnut.com/l/_GfyIWB2XCvPc
https://dl.doubtnut.com/l/_kDjD9mHekfqd


7. Define market rate of exchange.

View Text Solution

8. Ice cream is sold for Rs 30 Lakshmi who

loves eating ice cream , has already eaten 3 iec

creams. Her marginal utility from eating . Her

marginal utility from eating 3 ice cream is 90 .

Suppose, for her ,MU of one rupee is 3 . Should

she eat more ice Creams or stop?

View Text Solution

https://dl.doubtnut.com/l/_kDjD9mHekfqd
https://dl.doubtnut.com/l/_luGqr12Vw2fc


More Questions Solved Vii Value Based

Questions

9. Starting from an initial situation of

consumer's equilibrium state, how does

increase in marginal utility of one rupee affect

the quantity demanded of a product?

View Text Solution

1. How the law of diminishing marginal utility

applied with regard to education/knowledge ?

https://dl.doubtnut.com/l/_uD7x5z2rTJlh
https://dl.doubtnut.com/l/_RE6LV4GHx2QM


More Questions Solved Vii Application Bases

Questions

View Text Solution

1. A consumer has Rs. 10 and both goods X and

Y are price at Rs. 2 and are available in integer

units .(a) give the bundles that this consumer

can afford to buy (b) give the bundle that cost

exactly Rs. 10 (c) give two bundles that this

consumer connect afford to buy .

View Text Solution

https://dl.doubtnut.com/l/_RE6LV4GHx2QM
https://dl.doubtnut.com/l/_lfbhHpX85S2P


2. A consumer has Rs 40 and both goods X

and Y are price at Rs 20 it and are available in

integer units. (a) Given the bundles that this

consumer can afford (b) give the bundles that

cost exactly Rs 40.

View Text Solution

3. Given reason for the following statements: 

(i) If the income of a consumer changes and

https://dl.doubtnut.com/l/_lfbhHpX85S2P
https://dl.doubtnut.com/l/_MtDwHgkfqgg9
https://dl.doubtnut.com/l/_BZunJ7Xu0aMs


prices of the two goods remain unchanged, a

new budget line will be formed which will be

parallel to the original line . 

(ii) If the income of the consumer remains

unchanged and if the price of goods X rises,

intercept of the budget line of Y -axis will

remain the same , but on the X - axis it will

shift to the left .

View Text Solution

https://dl.doubtnut.com/l/_BZunJ7Xu0aMs


4. Given reasons comment on the following

statements : 

(i) A consumer's equilibrium is always formed

at a point on the given budget line. 

(ii) A consumer's equilibrium will shift to a

higher indifference curve with an increase in

consumer's income.

View Text Solution

https://dl.doubtnut.com/l/_w0uODHbYd6t4


5. Given reasons, state why the following two

conditions must be satisfied when a consumer

is in equilibrium. 

(i) A budget line must be tangent to an

indifference curve. 

(ii) Marginal rate of substitution must be

diminishing.

View Text Solution

https://dl.doubtnut.com/l/_iEEGkur9NffL


6. (a) What is a budget line ? What does the

point on it indicate in terms of prices ? 

(b) A consumer consumes only two pieces of

goods X and Y . Her money income is Rs 24 and

the price of price of goods X and Y are Rs 4

and Rs 2 respectively. 

Answer the following questions: 

(i) Can the consumer afford a bundle 4X and

5Y ? Explain. 

(ii) What will be the  when the

consumer is in equilibrium ? Explain.

View Text Solution

MRSxy

https://dl.doubtnut.com/l/_yNNKmKaGdLhA


7. A consumer consumes only two goods X and

Y both prices at Rs 2 Per unit if the consumer

choose a combination of these two goods

with Marginal Rate of Substitution equal to 2 ,

is the consumer in equilibrium ? Give reasons.

What will a rational consumer do in this

situation ? Explain.

View Text Solution

https://dl.doubtnut.com/l/_yNNKmKaGdLhA
https://dl.doubtnut.com/l/_cRLL73xoYOUc


8. A consumer consumes only two goods X and

Y whose prices are Rs 4 and Rs 5 per unit

respectively . If the consumer choose a

combination of the two goods with marginal

utility of X equal to 5 and that of Y equal to 4 ,

is the consumer in equilibrium ? Give reasons.

What will a rational consumer do in this

situation ? Use utility analysis .

View Text Solution

https://dl.doubtnut.com/l/_Ewi9v7ZcPROY

